Prysics 137A

Lecture 1 ¢ Spring 2014
University of California at Berkeley

FINAL ExXAM

May 12, 2014, 7-10pm, 4 LeConte
6 problems o 180minutes ¢ 100points

Problem 1 ¢ THREE-DIMENSIONAL VECTOR SPACE 10points
Consider a three-dimensional vector space spanned by an orthonormal basis {|1), |2), |3)}. Kets |a) and |5) are given
by:

) = i|1) =5[2) —il3), [B) =i|l)+3[3).

o A o Construct bras (a| and (8] in terms of the dual basis vectors {(1|, (2|, (3]}

¢ B ¢ Find (a|8) and (8] a).

o C ¢ Find all matrix elements of the operator A = |3) (a/, in this basis, and write this operator as a matrix. Is it
Hermitian?

Problem 2 ¢ FOUR PARTICLES IN A SQUARE WELL 20points

Consider a set of four noninteracting identical particles of mass m confined in a one-dimensional infinitely high
square well of length L.

o A o What are the single particle energy levels? What are the corresponding single particle wave functions? Name
the wave functions ¢1(x), ¢2(x), and so on with the corresponding energies €1, €3, etc.

o B ¢ Suppose the particles are spinless bosons. What is the energy and (properly normalized) wave function of the
grounds state? Of the first excited state? Of the second excited state? Express these three states
Un (21,29, 3, 24) and corresponding energies E,, in terms of your answers from part A: ¢;’s and ¢;’s.

o C ¢ If the particles are spin—% fermions what is the energy and (properly normalized) wave function of the ground
state? The first excited state? The second excited state? Express your answer in terms of single particle
wavefunctions and energies from part A. Feel free to introduce convenient notation for single particle spin
states and write your answer using a Slater determinant. Note degeneracy of these levels, if any.

Problem 8 ¢ TRIPLE SPIKE 30points

Consider the scattering of a particle of mass m with energy F > 205 from a one-dimensional J-function potentials.

o A o Find the reflection coefficient from a single d-function spike at the origin: V(z) = ad(z), with o > 0. What
does the condition £ > x5 imply?

o B ¢ Now two more d-functions are added to the potential, one to the left and one to the right of the origin:

V(z) =ald(x+a)+d(z) + d(x —b)],with a > 0.

Find the the relative positions of the potential spikes (a and b) that maximize the reflection coefficient from
this triple spike potential.

o C ¢ How does the reflection coefficient in the arrangement of part B compare to the reflection coefficient from a
single §-function potential?

Problem 4 ¢ ORBITAL ANGULAR MOMENTUM TWO 15points

A quantum particle is known to be in an orbital with [ = 2. You can use the eigenstates of L, the z-component of
orbital angular momentum, as a basis of this [ = 2 subspace and denote them |2 m;).

o A o What are allowed values of m;? S R
¢ B ¢ Find matrix representation of the operators L2, L., Ly, L_, L., and L, in this basis.
o C o Verify explicitly that [ﬁm, f/y] = ihL, in the | = 2 subspace.




Problem 5 ¢ ADDITION OF ANGULAR MOMENTUM 15points
An electron in a hydrogen atom is in an orbital with [ = 2.

o A ¢ What are the possible values of the total angular momentum quantum number 5?7

¢ B ¢ If the electron is in a state with the lowest j (among those which you found in part A), what are the possible
results of a measurement of JZ, the z-component of the total angular momentum?

© C ¢ Suppose that your measurement of J. in part B resulted in m; = j. If you now measure Lz, the z-component
of the orbital part of angular momentum, what are the possible outcomes?

Problem 6 ¢ NONCOMMUTING OPERATORS 10points

o A ¢ Prove that two noncommuting operators cannot have a complete set of common eigenfunctions.
o B ¢ Derive the upper limit of the the expectation value of a commutator of two operators, i.e. derive the the
generalized uncertainty principle.

You may need to use the Cauchy-Schwarz inequality:

(F1H)glg) = 1(fla) I
which holds for any |f) and |g) in a inner product space.

MATHEMATICAL FORMULAS

Trigonometry:
sin(a £+ b) = sina cosb + cosasinb

cos(a £ b) = cosacosb Fsinasinb

Law of cosines:
2 =a%?+b*> —2abcosh

Gradient operator:
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Laplace operator:
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Exponential integrals:
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Integration by parts:
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FUNDAMENTAL EQUATIONS

Schrédinger equation:
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Time-independent Schrédinger equation:

Hp)=Ep), |¥)=p)e iBt/h

Hamiltonian operator:

Position and momentum representations:

(@|p) = geap(%E), (@) =(z|v), o) =(ple), (x|p|v)=—ihly(x)

Momentum operator:

A _ . a ~ _ . a A _ . 8
Pz = 77]1%3 py - *Zhaiya Pz = 727/1@

Time dependence of an expectation value:

Generalized uncertainty principle:

Canonical commutator:

Angular momentum: o R o R o A
[Ly, Lyl =4hL,, [Ly,L,)=14hLly, [L,,Ly]=1ihL,

Raising and lowering operator for angular momentum:

Ly=1L,+ilL,, [Ly,L_)=2hL., Lill,m)="nII+1)—m(mE1)|l,m=+1)
Raising and lowering operator for harmonic oscillator:

+ = \/2}»117(77%‘):;j + Zﬁ)a [&77&4’] = 17 d+w’n =vn+ 1wn+1a dfwn = \/ﬁwnfl
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Pauli matrices for spin—% particle:
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A\> We will prove it bﬂ s oon'rmyosi-t{ve statement :
1{ lsamk & have common e{ﬂen‘(m'hbns j 'thej have o commute.

Let Y, be the common eiﬂen{m'hb!\s) i.e. ,3’[_')”: AT awn:anwn
Ahgj 'F con e exPye;;eJ ag -FI% C,,’Ugl'

[p.004-Fa(Pa-8p)Y=2a(Rarehth=0 4

\%\> Please vefer To section 3.5 on p.l10 of Griffiths
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